2016 NJCL Greek Language Test

Contest ID

Vocabulary: Choose the English word which BEST translates the given Greek word or phrase.

1. mopéym A. take B. provide C. trust D. suffer
2. BéAlw A. throw B. ask C. persuade D. hope

3. novog A. later B. thin C.old D. alone

4. dmd A. instead of B. from C. without D. below
5. dovlog A. stone B. device C. slave D. hero

6. EpoTho A. come B. place C. ask D. show

7. BovAn A. old woman B. gift C. road D. council
8.1 A. earth B. war C. ship D. proof
9. nécog A. uncaring B. middle C. impossible D. sweet
10. mévog A. courage B. strength C. love D. work
11. Aapmpdg A. false B. sharp C. immortal D. bright
12. pépw A. carry B. force C. destroy D. choose
13. yiyvouau A. disturb B. happen C. kill D. trust

14. xdxhog A. revenge B. deed C. circle D. word
15. yopa A. land B. house C. battle D. market
16. onpueiov A. sign B. island C. messenger D. gold

17. vidg A. skill B. son C. animal D. friend
18. dfjhog A. ignorant B. common C. young D. clear
19. ol A. from B. into C. through D. to

20. aitém A. pass by B. ask C. be quiet D. push
21.¢n A. often B. never C. not yet D. still

22. pBavem A. become manifest B. happen C. see D. act first
23. dakpvov A. profit B. tear C. beggar D. sky

24. tpadpa A. jealousy B. tyranny C. wound D. wizard
25. Katadvw® A. sink B. desire C. grieve D. cease
26. 1dog A. envious B. skilled C. worthless D. private
27. 6\og A. sly B. whole C. blind D. sensible
28. Emopon A. speak B. follow C. seize D. fall

29. povn A. loneliness B. care C. sound D. queen
30. 1100¢ A. powerful B. wise C. useful D. pleasant
31. latpog A. custom B. doctor C. oath D. mark
32. cvpPoved® A. know B. lead C. advise D. attempt
33. donep A. just as B. never C. most D. not even
34. otépavog A. crown B. friend C. stranger D. light
35. padng A. student B. hand C. army D. building
Synonyms: Choose the best Greek SYNONYM for the given word.

36. pnui A. dvvopon B. moiéw C. puAdtto D. Aéyow
37. xeipav A. flococov B. Bertiov C. duetvov D. ypnowog
38. dfjhog A. péyag B. cagng C. 6hog D. Aoudg
39. olv A. &ig B. ano C. peta D. mp6

40. aipéw A. oo B. mopéym C. ktdopo D. deikvon
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Antonyms: Choose the best Greek ANTONYM for the given word.

41.
42.
43.
44.
45.

avo (adv) A. Kbxdg B. copdc C. poro D. kdto
KIVED A. Emopon B. pévo C. éadvo D. Baiiw
TOAEHLOG A. 6&0¢ B. Bpoayvg C. ovppayog D. yaAemog
KOAY® A. BovAev® B. Aaréw C. xeluon D. Mo
a&log A. movnpog B. maAoidg C. dewvog D. filcocmv

Grammar, morphology, and syntax: Choose the BEST answer to the question.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

What case is the noun form mowpévav, (shepherd)?

A. nominative B. genitive C. dative D. accusative
Which of the following is the correct superlative of p&yag (great)?

A. fttov B. paxpotatog C. xpeittov D. péyiotog
Which is the correct aorist active participle of gaiveo (appear)?

A. pfjvan B. pavdv C. pnvag D. paveilv
What participial use is found in this sentence: HA0s ¢ Avsopevog v Buydtepa.

A. conditional B. purpose C. concessive D. genitive absolute
What use of the genitive is found in this sentence: dnéyopev Thc TOAe®S 600 otadia?

A. separation B. price C. cause D. comparison
Which of the following is the neuter accusative singular of the adjective mag (much)?

A. TOAD B. moAn C. moArd D. moAbdv
What is the superlaitve form of the adverb &0 (well)?

A. padiov B. dccov C. &piotoa D. dvotdtm
Which of the following adjectives modifies the form veaviog?

A. ayodd B. dyaBdg C. dyabov D. dyabovg
Which of the following pronouns is 1% person plural?

A. Duelg B. oV C. &yo D. fueicg
What is the correct aorist principal part of Ehave (drive)?

A. éMhapon B. floca C. flooa D. &ibwca
In which of the following noun-adjective phrases is the adjective in the predicate position?

A. 1) Bgd KaAn B. 1 0ed 1 kaAn C. 1 xoAn Ogd D. xoAn 1 Oed
What is the correct accentuation and syllable for the following verb form: maidevet?

A. acute, antepenult B. acute, penult C. circumflex, antepenult D. circumflex, penult
What is the correct accentuation of the phrase 6eoc éotiv?

A. 0go¢ goTiv B. 0g0¢ éotiv C. 0g6¢ éotv D. 0gb¢ éotiv
Which of the following is the genitive singular of yévog (tribe)?

A. yévoug B. yévog C. vévn D. yéveot
Which word in the following sentence expresses agency: @ Pacilel Tod dNpov dpketéov Eotiv?

A. Boothel B. dnpov C. dpxetéov D. éotiv
What conjunction means “as ___ as possible” with the superlative?

A. va B. q C. og D. énei
What is the correct present feminine participle of iyt (send)?

A. e B. eloa C. ieloa D. 6001
Which of the following is the relative pronoun?

A.bc, 1, 6 B. tig, Tl C. AoV D. avtog, avt, avtd
What use of the dative is found in this sentence: oiyfj dnfilfov oi moAéuior?

A. means B. respect C. cause D. manner
Which of the following prepositions can appear with only the genitive and accusative cases?

A. dvev B. xatd C. éx D. mopa
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66.

67

68.

69.

70.

71.

72.

73.

74.

75.

76.

7.

78.

79.

80.

81.

82.

83.

84.

Which is a correct translation of this sentence: TOV oTpayTnyOV 00KETL VOGETY 1yodvTan?
A. They believe that the general is no longer ill.
B. The general believes that they are still ill.
C. They believed that the general is still ill.
D. The generals believed that they were no longer ill.

. Which form of o0deig (no, none) correctly modifies this form of d6ypa (opinion)?

A. ovdepia B. 00devt C. o0déva D. o0vdév
What is the vocative singular of dvfp (man)?
A. dvdpe B. évdpag C. avopi D. dvep
Which tense/mood can be found in the protasis of a past general conditional with an imperfect apodosis?
A. aorist/indicative B. present/subjunctive  C. present/optative D. aorist/subjunctive
Which of the following pronouns is a interrogative meaning “of what kind”?
A. moiog B. tocobtog C. motepOg D. t0666d¢
What is the second person singular imperative active of 6idmpu (give)?
A. 310® B. didov C.dd D. d6g
Which of the following is the best translation of the sentence: mpdttel 0w Thg TOAE®S ApEEL?
A. He brings it about in order to rule the city. C. See to it that he rules the city!
B. It cannot be that he will rule the city. D. He brings it about that he will rule the city.
What kind of construction is found in this sentence: 6 pritwp €oti p€yag dGote Tavtag iOEV TNV KEQUANV.
A. indirect statement B. natural result C. purpose D. conditional
Which of the following is a numerical adverb meaning “5 times”?
A. mévte B. néumtog C. mevtakic D. mevinkootog
What is the correct 2" plural middle imperative of Tipdo, (to honor)?
A. Tivvtov B. tipdofe C. tud D. tipa
What use of the subjunctive is found in this sentence: ur mwomgng todto?
A. potential B. prohibition C. deliberative D. conditional
What tense is 1€6vnke?
A. present B. future C. aorist D. perfect
Which of the following sentences expresses a genitive of time within which?
A. 1® ovt® Etel anébavey. C. tadto TV Nuépav ExpatTov.
B. mévte Nuepdv ypdyo. D. tovtn ™ uépa ypayo.
Which of the following correctly translates: “I judged that we had won the battle”?
A. Ekpva UAG TNV Pbymv ViKHoay. C. &kpva MUAG TV Hoynv vikav.
B. kpive Nuag v péymv vikioayv. D. xpive Huag v waymv vikioov.
Translate: oi domnideg KAeTed Noav T0ig KAiv.
A. The shields were stolen by the thieves. C. The shields had to be stolen by the thieves.
B. Thieves continually steal shields. D. It happens that shields are stolen by thieves.
What use of the optative is found in this sentence: T00 d1806KAAOV 0VK GV AKOVGAUEV?
A. wish B. potential C. effort D. purpose
What type of subordinate clause is found in the sentence: Euayounv péypt éviynoa.?
A. temporal B. supplementary C. circumstantial D. absolute
Which of the following sentences is an example of a natural result clause?
A. 101G Beoig Bvovoy dote cmwbnoovtat. C. Bvovov dote cobdfvar VO TV Bedv.
B. mompata obto kald GoTe TIATOL. D. mompota obTm KaAd Tyl

Which of the following words/phrases can NOT introduce a wish with the optative, indicative, or infinitive?

A. €ibe B. éav C. elyap D. deelov
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Reading Comprehension: Refer to the following passage for questions 85-100.

Young Giants

1 Aéyeton 6 oceddv yevvijoar moidog d0o- 1 8¢ evoig adtdv Bavpascia v, NOEdvovto Yap kod’
2 EKaoToV £T0G &G HeEV TAATOG TTHYLV, €C 0& DYoc Opyvtav. Eneldn 08 £yévovto Evvéa £T®V, S1EVOODVTO
3 néyecOon Toig Ocoic. &mbévieg odv OMOuT® T® dpet ETepdv Tt dpog dvopatt ‘Occav, Kol Tpitov o
4 gxelve EmParovreg 10 IIAov, Euedlov 610 ToVTOV TAV OpDV €i¢ TOV 00pavOV dvapnoecOat. idovTeg 68
5 olo éxegivot molodotv, ol 0ol eikdTog £TapaocovTo. TEAog 88 1 ApTepic Aveilev AppoTépong St dmdTc.
6 GALGEaGa Yap TO £ovtiig £100¢ el Ehagov, adokntme S1d pécov avtdv Emndnocev. oi 8¢, otoyalduevor
7 T0D Onpiov, dAMA0VG KateTdEEVOAY.

Vocabulary Aid (alphabetical order):
adoxnrog (adv): gikdtwg (adv): naturally opyva, -ag 1: fathom mAGTOG , -0V, TO: breadth

unexpectedly £hagog, -ov, 6/1: deer "Oooa, -0v, 6: Mt. Ossa in Moce16®v 0: Poseidon

aAAGocm: to change émTiOnuu: to put upon, pile Thessaly otoyalopan: to aim at (+ gen)
avorpém: to cause destruction Oavpoaciog a ov: marvellous mmMoawm: to leap, spring Tapdoom: to trouble, disturb
damarn, -ng, N: trick, deception  karTaTo&evm: to shoot down InMiov, -ov, 16: Mt. Pelionin  dwyog, -ovg, T6: height
Apteg, 0 Artemis ‘Olvpmog , -0v, 6: Mt. Magnesia
owavoéopati: to intend Olympus in Thessaly TG, -G, 0: cubit
85. According to line 1, how many sons did Poseidon have?

A.2 B.3 C. 4 D.6
86. What is the best translation of ka8’ (xatd) in line 1?

A. against B. from above C. throughout D. upon
87. According to lines 1-2, what did the giants do each year?

A. grew large B. farmed their land C. travelled far D. worshiped the gods
88. According to lines 2-3, how old were the giants when they decided to go to war?

A.6 B.9 C. 11 D. 100
89. According to lines 2-3, against whom or what did the giants want to fight?

A. the earth B. the other giants C. the mountains D. the gods
90. What does 1t modify? (line 3)?

A. émbévteg (line 3) B. dpet (line 3) C. dpog (line 3) D. ovoport (line 3)
91. According to lines 3-4, what did the giants do with the third mountain?

A. climbed it alone B. leveled it C. piled it on the others D. settled there
92. According to line 4, what was the giants’ destination?

A. the Underworld B. the tallest mountain ~ C. heaven D. Mt. Olympus
93. What is the best translation of &ugllov... avopricecton (line 4)?

A. they intended to climb up B. they intend to tear down

C. they intended to wage war against D. they intend to set an escape
94. What does 106vteg (line 4) modify?

A. oia (line 5) B. ékgivol (line 5) C. 0¢oi (line 5) D. gik6tog (line 5)
95. According to lines 4-5, why are the gods upset?

A.land was destroyed  B. giants were too big  C. Artemis ran away D. heaven was attacked
96. According to line 5, how did Artemis act?

A. deceptively B. piously C. rashly D. timidly
97. According to line 6, what did Artemis do?

A. perform a sacrifice ~ B. change her shape C. go hunting D. save an animal
98. According to line 6, who or what did Artemis get between?

A. the gods B. the mountains C. the animals D. the giants
99. According to line 7, who slew the giants?

A. Artemis B. Poseidon C. the dryads D. the giants themselves
100. This passage exemplifies the Greek concept of

A. xenia B. hubris C. arete D. ataraxia
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